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\ A closed loop control system has a characteristic equation given below 10
. $*+4.55%+3.58+1.5=0
2. S™283+38%+4S8+5 =0
Investigate the stability using Routh-Hurwitz Criterion
2 [For the given characteristics equation determine the stability using Routh’s 10 co4 | L3
/7 jarray. sS4 = Y Ul
F(S)= S*+35%+48'+683+55%+3S+2=0
3 Using Routh’s criterion, calculate the range of k for which the system has its 10 Co4 L3
P closed loop poles more negative than -1. < %)r ¢ 'JA_}_ Ch D oz r12re 0O
G(S)=k(S+13) / S(S+3) (S+7) 04 KL%
4 Explain Routh — Hurwitz criterion for stability of the system and what its 10 CO4 L2
limitations are
5 Draw the root locus sketch and comment on the stability of the given system. 20, Co4 L3
S B Y JG(S)= K /S(S+2) (S+4)  pop > 0-545 "56
; \ S R
° ,18§0 4 390,
6  [Draw the root locus sketch and comment on the stability of the given system. 20 Co4 L3
/ enp = ~v-631  G(s)=K (5+2) (S+3)/ S(S+1) \g"‘"\ ’ &
e —2 0 3bb 7T :
7 Sketch the Bode plot for transfer function. ) ’ 20 CO4 L3
G(S) =80/S (5+2) (S+20)
Comment the stability and determine the Gain Margin, Phase Margin, Gain &
Phase Crossover Frequency.
8 Sketch the polar plot for the given transfer function 10 COo5 L3
G(S)H(S) =1/ S (S+1) (S+1/2) .
9 | Obtain the state model for the given system. [ o ) o 10 CO5 L3
Y(S) /U(S) =24/ S* +95*+26S5+ 24 ol - a
10 |Find the state transition matrix for the given state equation. ) 10 CO5 L3
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